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Divida o polinômio 𝑃(𝑥) pelo binômio 𝐵(𝑥) dado: 

1. 𝑃(𝑥) = 𝑥3 + 3𝑥2 + 5𝑥 + 7 e 𝐵(𝑥) = 𝑥 − 1. 

 

 

 

 

 

 

 

 

 

 

2. 𝑃(𝑥) = 2𝑥4 − 3𝑥3 + 𝑥2 − 2𝑥 + 1    e    

𝐵(𝑥) = 𝑥 − 2. 

 

 

 

 

 

 

 

 

 

 

 

 

3. 𝑃(𝑥) = 𝑥4 − 5𝑥2 + 5 e 𝐵(𝑥) = 𝑥 − 3. 

 

 

 

 

 

 

 

 

 

 

 

4. 𝑃(𝑥) = 𝑥7 − 1 e 𝐵(𝑥) = 𝑥 − 1. 
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5. 𝑃(𝑥) = 6𝑥4 − 𝑥3 + 3𝑥2 + 𝑥 − 2      e      

𝐵(𝑥) = 𝑥 − 2. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6. 𝑃(𝑥) = 2𝑥5 + 𝑥3 − 3𝑥 + 1            e            

𝐵(𝑥) = 𝑥 + 1. 

 

 

 

 

 

 

 

 

 

 

 

7. 𝑃(𝑥) = 𝑥4 − 81    e    𝐵(𝑥) = 𝑥 − 3. 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 
 

Gabarito: 
1. 𝑄(𝑥) = 𝑥2 + 4𝑥 + 9; 𝑅(𝑥) = 16 
2. 𝑄(𝑥) = 2𝑥3 + 𝑥2 + 3𝑥 + 4; 𝑅(𝑥) = 9 
3. 𝑄(𝑥) = 𝑥3 + 3𝑥2 + 4𝑥 + 12; 𝑅(𝑥) = 41 

4. 𝑄(𝑥) = 𝑥6 + 𝑥5 + 𝑥4 + 𝑥3 + 𝑥2 + 𝑥 + 1; 𝑅(𝑥) = 0 
5. 𝑄(𝑥) = 6𝑥3 + 11𝑥2 + 25𝑥 + 51;𝑅(𝑥) = 100 
6. 𝑄(𝑥) = 2𝑥4 − 2𝑥3 + 3𝑥2 − 3𝑥; 𝑅(𝑥) = 1 
7. 𝑄(𝑥) = 𝑥3 + 3𝑥2 + 9𝑥 + 27; 𝑅(𝑥) = 0

 


